
LO: To be able to 
understand how to 
spend money efficiently.

W E D N ES DAY



Recap

Find the total:

Sasha has £3.96 and Omar has £1.24.    

How much do they have altogether?
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We are going to be making choices about 
spending money:
You will have 2 options on every slide: Spend more vs Spend Less or no money

You will choose one of the options and give reasons for your choice. 

Q1: Which one of the following will you choose and why?
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Q2: Which one of the following will you choose and why?
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Q3: Which one of the following will you choose and why?
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Q4: Which one of the following will you choose and why?
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Q5: Which one of the following will you choose and why?
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Q6: Which one of the following will you choose and why?
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Q7: Which one of the following will you choose and why?



We are going to be making choices about 
spending money:

Q8: Which one of the following will you choose and why?


